log (L*/L* ) IECSRGB lightnessL* normalized
L¥/L* to the background lightnesd.*
28100 =s(Y/Yy)"=d (Y,=100,Y,=18, =100, n=1/2,4, d=0) [1
L*=r (Y/YQ)"=d (r=s(Y/Y,)"=48,94,L* ;= r - d) [1b]
L¥L* (=(YIYy)" [1c]
log (L*/L* ) = n'log (Y/Yy) [1d]
1410 In (L*/L* ) = In(10) n log {/Y,) [1e]

LHL* = &n(10) nlog (¥/Y,)
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log AY/IAY,)
AVIDY,

N

[N

IECsRGB tristimulus value difference
AY normalized toAY,

100.* =S (Y/Y)'=d (Y,=100,Y,=18, =100, n=1/2,4, d=0) [1

L*=r (YY) "=d (r=s(Yd/Yy)"=48,94 L% = - d) [1b]

dy = [/

(ns)(Y /v 2c]

dYy = [Yn/ (n$)(Ye/ Yot "= 1,1746 [2d

10 dy /dY, = (Y / Y)'™"
log(dY / d¥;) = (1-n) logY / Yy)

Mpy =1-n=0,583
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Hoade™ """ T T s mmees O =oB8s™ " T T T TS
application : 0
~0,53 rapr?ge ?é)r?glllgatlon
o 0,1 1 10 1Y,=18100 vy o 010,74 10 'Y,=18100 vy
- -1 0 1 2 logY - -1 0 1 2 logY
het30-5a het30-6a
log [(AY/Y) / (AYIY),]  |ECSRGB-Y sensitivity log[(Y/AY) / (YIAY),)] |ECSRGB-Y contrast

S/Su=AYMIAYY),  normalized to AY/Y),

CiiCu=(YIAY)(YIAY), normalized to (YIAY),

24100 =s(Y/¥p)'=d (Y,=100,Y,=18, s=100, n=1/2,4, d=0) [1 24100-* =s(Y/Yp)'-d (Y¥,=100,Y,=18, s=100, n=1/2,4, d=0) [1,
L*=r (YIYQ)"=d (r=s(Y/Yy)"=48,94,L* ;= r - d) [1b] L*=r (YY) "=d (r=s(Yd/Yy)"=48,94 L% =1 - d) [1b]
dY Y= [l (ns) 1Y 1Y) 1Y 3d] YIdY=Y L (Y (n$) 1Y 1Y) "} l4c]
@Y /1Y) =Y (n8)1(Va/ Yo ™1 Yy [3d] (V1Y =Ya (LYl (nS) (Yl Y)' ") [4d]

1210 (dY /Y)/ (@Y /YL =(Y/Y) " Belll 1410 (v /dy)y/ (Y /dyy=(Y/Y)" [4e]
log [(dY / g)é %dZY 1Y) = (=n) log(Y / Yy) [3f] log [(Y / dY)/ (Y / dY)] = (n) log(Y / Yy) 0, 5441

Mny = =n = ~0,416 application Mny =N = 0,416 ,301
o5 T —— range Oelem & o o o
m, = -0,416 m, = 0,416 [E—
301 application
' -0,592 -0,53 ' range
i 0,1 1 10 'Y,=18100 v o 0,1 1 10 'Y,=18100 Y

-2 -1 0 1 2 logY - -1 0 1 2 logY
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